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Fea at| (810 | 119,300 1.0f (240 | 318,000 4.2 (20| 127,300 29[ 27| 52,000 51| ‘| 40,300 a0.5 112} 155800 1.7
s | 270 | 123,800 1.4] (14 | 385500 4.1 (470 ] 2132000 2.3
wmnx | (1201 137,000 0.9 ‘1) | 33200 5.4 3| 176,000 3.5/ 17| 51,000 4.1 (187 | 146,900 1.6
mex | (14| 1361000 1.4 3 | 307,700 5.4 (179°] 166,400 2.1
gz [ (13)] 97,8000 0.3 ‘20 | 145,000 2.0 (401 39,100 a0.7] 217 | 91,100 0.3
& = [ 19] 682000 0.4 2 | 142,50 3.3 2) 1 42,900 0.0f (147 | 75200 0.7
g [ 30 ) 2073000 16| 20 | 213,000 5.8 10| 78500 1.9 10| 53000 6.0 (70| 168,500 3.5
#Fh (8) | 32,800 a0.4| 27 | 87,800 a1.2] ‘17| 27,000 0.0 (11| 42,300 A0.5
s | (230 | 238,300 a0.2] Z) | 914,000 0.2 (101 80,0000 25.0] ‘10| 71,0000 6.0f ‘SO | 340,000 0.9
migm | (320 | 57,500 1.3) (8) | aa2,000 5.4) ‘27| 141,500 o.4f (17| 67,000 26.4| 1, | 25500 a9l ‘570 | 20600 2.4
BT (70| 20,2000 0.4 ‘17 | 45200 0.6 (8) | 32,700 0.4
xmad | 03| 20400 09 40 | 53700 A0.2] (17| 27,100 Ao0.4 (831 12,0900 at.8l 217 | 31,500 0.3
wrem | (300 | 155,000 40.7] (27 | 395400] 0.6 01 75,0000 A0.7] S8 | 197,900 A0.4
msam | (18| 6800 407 2 | 130,000 0.0 (91 30,000 (18] 73200 A0.6
mram | 9| 287000 0.3 ‘2 | 52,400 0.0 ‘17| 13,900 0.0 (18| 32,700 0.3
mam | (20| 46,3000 0.7] 2 | 115100 0.0 (201 11,5000 0.0 247 | 49,100 0.6
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AT (1871 80,100, 0.0 ‘3 | 122,000 0.3 (101 15,3000 a0.6] 207 | 83100 0.0
Hah (8| 26,0000 0.0 ‘2> | 55000 2.4 (1 12,0000 0.0 (97| 30,900 0.5
B (12> 14,800 a1.0] 27 | 34,900 A0.8 21 17,700, Al.0
gama | (19 169,200 1.9 17 | 275000 5.4 (137] 178,000 2.2
W ow (88) | 123,600 0.9 ‘47 | 587,800 2.2[ ‘17| 118,000 2.6 (871 36,2000 a0.6] 447 | 159,700 1.0
B (8| 20,2000 0.8 27 | 36,200 A0.2 (8 | 24,2000 a0.6
TR (80) | 49,2000 1.6 47 | 80000 22f 27| 30,000 0.0 ‘17| 18,500 0.0 ‘3| 19,600 0.0l 42| 49,300 1.4
AN (147 | 136,000 1.4 ‘17 | 328,000 7.5 (101 5,500 0.0l (18| 143800 1.7
A | 8 1255000 0.1 20| 207,500 2.0 (101 30,500 at.3l 12| 120,600 0.2
gmza | (120 | 107,800 a0.5] 27 | 106,500] A0.3 (17| 38000 26l ‘13 | 103,000 40.6
Bl 8 | 20,700, 0.0] ‘| 34,100 0.0 1] 24,400 0.0
srad | 9 | 4300 a2.7] 17| 119,000 a1.7] (17| 83,000 A2.4 (01 51,5000 a2.8l ‘12| 91,000 A2.6
B (1201 23,7000 0.1] 27 | 42.700] A0.5| ‘17 | 20,800 Al.0 01 14,3000 at.4l 1€ 25300 A0.1
i (97| 18,000 0.3 17| 23000 A0.9 1 11,0000 atgl (217 18600 0.5
e (107 | 349,700 a0.9] 17 | 725,000 0.0] ‘© | 150,000 (137| 364,300] A0.8
ms | (2 | 67,8000 a0.1| ‘1) | 108,000 0.0 01 21,9000 0.0l 117 67,200 A0.1
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womm | (S0 | asso0l 2.4 10| 25000 3.9 (1)1 260000 0.0 (10| 23500 0.0l ‘37| 12090 o.0of 19| 41,200 1.9
Nt © | 21,000 at.1| ‘17| 52800 Al1.5 (70| 25,500 Al.1
g (6 | 55,700 0.3 17 | 52,200 A1.5 01 15,1000 ar.3l 8 | 50,200 A0.6
ZE (4| 80,500 A0.4 (17| 38000 26l 2 | 72,000 a0.8
EEH (4) 1 48600 0.0 ‘17 | 105000 0.0 01 14,4000 a0.7] € | 52,300 A0.1
mees | (28| 15700 0.8 2 | 27.000] A0.9 (80) 1 16,500 A0.8
B3 8 | 16,300 a0.8] 17 | 65600 A0.6 (11 8000 Al.2 (101 20,400 A0.8
smam | 10| 21,000 a04] 2| 49,300 0.0 (171 10,000 A2.0 (18) ] 26,600 A0.4
wats | (12| 15.400| a0.5| (20 | 35600 Al.2 (11 10,2000 0.0 (18| 17,800 A0.5
wtam | (12 15000 ats[ (10| 34,700 0.0 41 16,400 al.4
mazar | (3| 55,2000 A0.2 01 o700 a3.0f 3 | 46,100 0.7
N (171 38,700 A0.8 20| 10,800, at.0f S | 20100 0.9
ARH 2)1 13,000 at.1] ‘2> | 13000 Al.1
% B (8) | 42,2000 a1.7] 17| 74,000 0.0 1 a8l 00| 2 | 42100 at0
FhEET 87| 7,800 a0.4] 17 | 18500 A2.6 47| 10,500 A1.0
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S HT 871 10,700 a2.6] ‘17 | 25200 A3.1 (49| 14,400 A2.7
S FERT 87| 14,400 ar.1| 17| 17,600 A2.2 47| 15,2000 al.4
xegezar | 4| 30,1000 a0.5] (17| 49,000 0.0 (01 12,0000 a0.8l € | 30,200 A0.5
ntnzer| (2| 10,800] A0.5 1 12,5000 0.0 )| 11,1000 a0.4
L8y (471 12,000 40.9 (01 8800 0.0 S 11,3000 a0.7
mene | (2 | 12,5000 aos| 1) | 35000 Al.4 (97| 15,000 40.7
—EH (47| 23500 2.9 ‘17 | 34,000 0.6 (87| 25600 2.5
BERET (47| 14,200 A0.7 47| 14,2000 a0.7
B4 (4| 13,800 40.9 47| 13,800 A0.9
=E) (4) | 12,500 A0.8 (47| 12,500 a0.8
SAET (4| 12,400| A0.4 (4| 12,400] A0.4
R () 9,500 A1.1 (%) 9,500 Al.1
xega | (4 7,900 a2.6] ‘1) | 17,500 A28 = 9,900 A2.6
TR 87| 20,600 a0.4] 17 | 34,600 A0.3 (47| 24,1000 a0.4
SERET (41 15,100] a0.5| 17| 25200 0.0 (& 1 17,100 a0.4
Fers | 021 g3.5000 0.1 (12 1 231,400 15[ (9| 71,800 0.4f (V| 31100 5.3 | 27,000 a0.8] F | 100,600 0.3




